Suzi’s Company

Rubric

section
points | points
l.a Table completed correctly. 1
Gives correct answer: total $680 000 Total 1
S100 000
b Gives correct answer: $45 333
. 80 000
and shows calculation 1ft
80 000
680000
15 $150 000
80 000
$150 000
540 000
5680 000
3
2.a  Gives correct explanation such as: He has not looked at how many people 1
earn each salary
b Gives correct answer: $30 000 1 2
3.a  Gives correct answer: $40 000 1
b There are 15 people. The middle person, the 8" person, gets $40 000 1 )
4.  Gives correct answer: Mean 1ft
Gives correct explanation such as: That is the highest of the three. 1ft
2
S5.a  Gives correct answer: Mode 1 1
Total Points 10
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